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Plot Sensor and FgRec Data
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Trend plot forP3-9 0
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P3-9

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS EX

06:35 283 150.0 2. 888 FA| 1Bzi%@06:35 B3h (KAB{ERESE)
07:30 283 150.0 2.888 FA| 1BRi%@07:30 B3zh (KAIEREEE)
08:25 283 150. 0 2.888 FA| 1B2i%@08:25 B3h (kA{EREEE)
09:35 283 150.0 2. 888 FA| 1Bzi%@09:35 B3zh (KBRS
10:45 283 150. 0 2. 888 FA| 1BRi%@10:45 B3h (KRAERSE)
11:35 283 150. 0 2.888 FR| 1BRi%@11:35 B3h (kAEREE)
12:25 283 150.0 2. 888 FA| 1BRi%@12:25 B3h (RABERSE)
13:15 283 150.0 2.888 FE| 1BRi&@13:15 Bzh (GRAEREE)
14:10 283 150.0 2.888 FA| {Ri%@14:10 Bz CGRAERE)
15:30 283 150.0 2. 888 FA| 1B2i%@15:30 B3h (RkA{ERSE)
17:10 283 150.0 2. 888 FA| {Ri%e@17:10 Bz (GRAEEE)
23t 3113.0 (11)%) 1650. 0 JEWHKEC: 2080.0, PH: 5.6

HERRHEME S TEAERT (184.0 : 150.0), AIgEMF—RE XAH45
2RI\ EPRERE150. 0 ml.

[o{&REC 6380.0 K5, EiNF{RKECAE&HRER

#[ERECE (2220.0 vs 6380.0) T 5
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Warning: lcol ["WC1',  "WC2'] missing
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P3-9

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:55 283 150.0 2. 888 5| {Ri%@06:55 Bz (KRAERSE)
07:40 283 150. 0 2.888 E BRi&e07:40 Bz (GRAERSE)
09:00 283 150.0 2.888 (Z=| {Ri%@09:00 Bzh (FAERSE)
10:00 283 150.0 2.888 (£ =| 1Ri%@10:00 Bz (RAEAERSE)
10:50 283 150. 0 2.888 |Z=| 1BRi%e10:50 Bzl (GRAEREE)
11:35 283 150.0 2.888 |Z=| {Ri&e11:35 Bz (REERSE)
12:20 283 150.0 2.888 (Z=| 1Rig@12:20 B3 (RAERSE)
13:00 283 150. 0 2.888 E BRige13:00 Bz (GRAERESE)
13:40 283 150.0 2.888 5| {Ri%e13:40 B3 (RAERSE)
14:20 283 150.0 2. 888 = RRiB014:20 B (RFAEESE)
15:05 283 150. 0 2.888 E BRi&e15:05 Bzl (GRAERESE)
15:55 283 150. 0 2.888 El 1BRi&e15:55 Bz CGRAEREE)
17:10 283 150.0 2.888 FA| {Ri&@17:10 Bz CGRAEEE)
23t 3679.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

HERRHEME S TEAERT (184.0 : 150.0), AIgEMF—RE XAH45
2RI\ EPRERE150. 0 ml.

[O&REC 6447.0 K5, ZEINF{KECAE&HRER

HEEIRECE (2323.0 vs 6447.0) 05



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)
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P3-9_0, Day=57 (2025-05-29)
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